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55 2024 | 20236 | 20235 F | 2023 F | 2023F F | 2023F F | 2023FF| 2023FE | 2023FE| Point

I| 523|H# # JIN=F =227 =L 95 200 60 70 425
2| 560[B% 1§37 ERO—> 60 35 70 15 12 70 25 70 357
3 1o1{mm # Efo—> 35 60 5 10 70 40 70 55 345
4l 1147|ME B 2Ho—> 60 35 70 15 12 15 25 232
5| 219|XkE H##H BAo—> 20 10 20 30 8 25 17 30 50 210
6| 432/ 1817 S5 F—IL 20 25 45 45 15 5 5 45 205
7] 180[xF FiT ERO—> 20 25 45 45 15 5 45 200
8l 137[@m BX ERO—> 20 | 20 30 8 17 30 50 176
9| 589|tkrK # JrILT 15 5 15 30 40 15 120
9| 1094 |k &= BAlo—> 12 | 30 10 12 30 25 120
1| 67|x8& #8l BRO—> 4 15 30 8 2 5 15 30 109
1] 64|t B BRo—> 12 10 5 12 15 30 25 109
13| 438|@A 15— S5 A—IL 20 25 15 15 2 10 87
14 165(0E &t EFO—> q 10 5 10 2 8 10 30 84
14| 175[#0 & ERO—> 4 15 15 8 2 5 5 30 84
16 g4 #N BHO—> 7 2 8 2 17 5 40 8|
I7[1105|&® BEf I 15 5 15 40 75
17| 170|E% &R& BAo—> q 5 3 8 10 5 35 75
19| 435|%k BB 57 A—IL 12 15 3 5 35 70
19| 146|mrt E— EROo—> q 5 6 2 8 5 15 20 70
21 NEEEX THFLZ 2 | 6 2 15 17 5 17 65
22| 100|@% BE Efo—> 7 2 8 2 5 40 64
23| 492mn BE JIR=F=227—IL 60 60
24| 584[%R =AM BAo—> q 8 2 2 30 51
25| 547|+8 &% #<YRTC 2 | 6 2 15 I 5 17 49
26| 200|&F E= BRo—> q | 5 2 5 5 20 47
27| 578|@A B—HR EHO—2 15 30 45
28| 1143|158 &4t AT 6 25 31
28| 120|xfkE X— ERO—> 2 2 2 25 31
28| 133[RR # BAo—> | 15 10 5 31
28| 190|/hB % BAo—> 6 25 31
32| l1o4|tErT EHO—r 2 2 | 25 30
33| 1223F# w6 S AT 10 2 10 22
34| 537|EM HiF #<YRTC 2 17 19
34| 538(%uE Bk #<YRTC 2 17 19
36| 429|#AK VAL 59 F—IL I 17 18
36( 43188k oz 59 -F—IL | 17 18
36| 571K EX BAo—> 8 10 18
36| 1006|F% WA = 8 10 18
40| 24918 EB #25F—TC 2 4 10 16
40[ 304[itHk & DRI % 2 4 10 16
42]1219|#@\ —& 57— 6 8 | 15
42[1093[+kL X ERO—> 15 15
42(1266|1Ek KR BAlo—> 2 8 5 15
45| 539(HER KRIT #<YRTC 8 5 13
45| 540(RYYFv> VN[ HLYRTC 8 5 13
47| 230[2% KA TLYIR 10 10
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47| 308| KT X Iy 10 10
47( 440(%®@ 15 59 F—IL 5 5 10
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59| 269|K)N Pl TLvIZ 5 5
59| 300[&# AT JVrILT 2 3 5
59| 769|R1 Eth VLT 2 3 5
59| 542|&R Eh #LYRTC 5 5
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59| 439[inpkE N S5 A—IL 5 5
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69| 268|FE FE #>F—TC 2 | 3
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69| 486(FF A F—LU&T 2 | 3
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73| 1151 |FNl Zof BHER 2 2




73| 1152[1£% Ak BRI &R 2 2
73| 1254|=Fr 26 R 2 2
73| 1259/ A BRI &R 2 2
73| 1051 [ &£ ER KT 2 2
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86| 285(HW HZB ot | I
86 15518 &— BRI —> | I
86 19| &M =ik BRI —> | I
86| 118|H 2— BAO— | I
86| 574 i 2% EHO—2 | |




